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13. 211—(;1112 +2mb + mg)
14. ;:(m% + 3m!%)
1. %(m% +m'® om0 mZI)
16.
r %(mpq + T2 |y (D2 4 Gty i b e both odd
- é(m["’ + 3mP1/2y - if p, g are both even
- %(m”q + 2mP2 | (Patp)/2y if p is even and ¢ is odd
L i(m"’q + 2mP/? 4 g (PTHD/2y if p is odd and ¢ is even
17. 1-1~2-(m4 + 11m?)

18.

1
iz(m(’ + 8m® + 12m3 + 3m?)

EXERCISES 5.6

1.

2.

1
57 0 + 6572 433 + 8y1y5 + 63,)

1
E-é(yls + 10y; y, +20y2y; + 153193 + 20y2y3 + 30y;y4 + 24ys)

1
75 (07 + 393 +8y133)

1
g(J’f + 251y + 3y + 2y4)

1
2 (0 +353)

1
E()ﬁé +3y13 +4y3 + 252 + 2s)

1 n/r ¥ . .
-2—;;(2;“}22 o)+ ny ) if s odd;

: n -1/2 n/2 . .
‘2‘“};( Zr1n o)y + 5()’1}’2(" 2 4 Y2/ )) if n is even
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EXERCISES 5.2

1. D3, Dy, Dy, Dy, Dy

2. C;:FEGJLPQRCy:N,S,Z; D : A,B,C,D,ELK, M, T, U,V, W, X, Y:

Dy, H 10O '

D, Dy, Dy

Dy, Dy, Dy, Dy, D3

See the table given in the text.

The rotational symmetries of the cube correspond to the permutations of the four

diagonals.

9. Supposea’ € Z(D,). Thena'b = ba' = (a" )b =a"1b, s0a? = e. Hence 2i —=
Oorn. Therefore Z(D,) = {e} or {e, a™/?}, according to whether n is odd or even.

® kW

EXERCISES 5.5
1
1. é-(m4 +2m 4 3m? + 2m?)
1
2. —(m® +4m + 5m%)
10
1
3. —(m* + 3m?)
4
1
4. ="+ (p— Dn + pnr*D72)
p

1
5. 5(36+2-3+2.3z+4-33+3.34)=92

1
8. §(3IQ+2-33+3-36+2.3"’)=67,257

1
9, QZ(Z"” @(rym?” + N), where
nma"/2 if g is even
N = { nm{@+1/2 if ¢ is odd and » is odd

2(m"2 4 m@n+D/2) if g is odd and n is even

1
10. —6—(43+2-4+3-42)——4:16

I
11. é-(4“+2-4+3-42+2.43)—-4:51



